SCREENING TEST FOR THE POST OF ASSISTANT AREA MANAGER /ASSISTANT PROCUREMENT OFFICER

HIMACHAL PRADESH
PUBLIC SERVICE COMMISSION

(CLASS-1) IN THE DEPARTMENT OF FOOD, CIVIL SUPPLIES AND CONSUMER AFFAIRS.

TIME ALLOWED: 2.00 HOURS. MAXIMUM MARKS: 100 Write your Roll. No.

Note: This question booklet contains 100 questions. All questions carry equal marks. Out of four

options given at the end of each question, please indicate the correct option.
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PART -1

FFC stands for
{a) Foreign Finance Corporation
(b) Film Finance Corporation
(¢) Federation of Football Council
{d) None of the above
Habeas Corpus Act 1679
(a) States that no one was to be imprisoned without a writ or warrant stating the
charge sgainst him
(b) provided facilitics (0 a prisoner to obtain either speedy trial or release in bail
(¢) sufeguarded the personal liberties of the people against arbitrary imprisoumeni
(d) All of the zbove.
Gura Gobind Singh was
(2) the 10" Guru of the Sikhs
(b) founder of Khalsa, the inner council of the Sikhs in 1699
(¢) authar of Dasam Granth
(d) All the sbove.
Durand Cup is associated with the game of
(a) Cricket
(b) Football
(¢) Hockey
(d) Teanis
Economic goods are
(n) All commodities those are limited in quantity as compared to their demand
(b) Commodities that is available according to their demand
¢) Commoditics that is available more as compared 1o demand
(d) None of the above
For purifying drinking water alum is used
(a) for congulation of mud particles
(b) to kill bacteria
(¢) to remove salts
(d) to remnove gases
ESCAP stands for
() Economic and Social Com mission for Asix and Pacilic
(b) European Society Council for Africa and Pacific
(¢) Economic and Social Commission for Africa and Pacific
{d) Nane of the above.
Himalayan Mountaineering Institute is at
(%) Durjeeling
{b) Dehradun
(c) Marmago
(d) Dispur
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Free market s
(u) a condition in the international market where natlons do not impose cusioms duty
or other taxes on import of goods.
(b) market where the price of 2 commuodity is determined by free play of the forces of
supply and demand
(¢} ports that are exempled from payment of customs duty on articles of commerce,
primarily to encourage tourism
(d) Nane of the above
Look st this series: 2, 1, (1/2), (1/4), ... What number should come next?
(=) 1/3
(b) /8
(c) 2728
(d) 1/16
Look at this series = 36, 34, 30, 28, 24, ... What number should come next?
(a) 20
(b) 22
(¢) 23
(d) 26
Look st this series = 31, 29, 24,22, 17, ... What number should comoe next?
(a) 1S
(b) 14
{c) 13
(d) 12
The Parliament of Indin cannot be regarded as a sovereign bady because
(«) it can legisinte only on subjecis entrusted o the Centre by the Constitution
(b) it has to operate within the Hmits prescribed by the Constitution
(¢) the Supreme Court can declare laws passod by Parliament as unconstitutional it
they contravene the provisions of the Constitution
(d) All of the abave
The members of the Rajya Sabha are elected by
(o) the prople
(b) Lok Sabhx
(e) elected members of the legisintive assembly
{d) elected members of the legislative council
The power to decide an clection petition is vested in the
(a) Parliament
(b) Supreme Court
{c) High Courts
(d) Election Comminsion
The present Lok Sabha Is the
(a) 13 th Lok Sabha
(b) 14 th Lok Sahha
(c) 15 th Lok Sabha
(d) 16 th Lok Sabha
The minimum age to gualify fur election to the Lok Sabha is
(a) 25 yours
(b) 21 yeurs
(c) 18 years
(d) 35 veurs
The pension of a High Court Judge is charged to the
(a) Consolidated Fund of indin
(b) Consoliduted Fund of the State where he last served
{c) Comsolidated Funds of the different States where he has served
(d) Contingency Fund of Indis
The preamble says that the state in India will assure the dignity of the individual, T}
Constitution seeks to uchieve this object by guarantecing
(#) equsi fundamental rights to each citizen
(b) the right to adequute means of livelihood to each individunl
(¢) just and humnne conditions of work to each individual
() equnl wages for equul work to each individual irrespective of sex



20,

21.

24.

29,

F% S

Indis has largest deposits of in the world.
(a) Gold
(b) Copper
(¢) Mica
(d) None of the abuve
In which year, ferrorists crash two planes into New York's World Trade Centre on
September, 11 in 4 sequence of destruction ?
(m) 2000
(b) 200
(c) 2002
(d) 2003
in normal human being, how much time does food take to reach the end of the intestine for
complete sbsorption ?
() About 8 hours
(b) About 12 hours
(¢) About 16 hours
(d) About 18 hours
In cricket, the two sets of wickets are
(2) I8 yards apart
(b) 20 yurds apart
{¢) 22 yards apart
(d) 24 yards apart
Indin has
(a) largest turmeric production
(b) lurgest ten production
(c) largest ginger production
(d) All of the above.
In big citics like Delhi, Kolkata, Mumbai, Chennai police is headed by »
(a) Commissioner of Police
(b) Inspector Generanl of Police
() Deputy Inspector General of Police
(d) None of the above.
The cost price of 20 urticles is the same as the selling price of x articles. If the profit is 25%,
then the value of x is:
(x) 15
(b) 16
(c) I8
(4) 25
A man buys 8 cvele for Re.1.400 and sells it ar a foss of 15%. What is the sclling price of the
eyvele?
(a) 1090
(h) 1160
(c) 1190
(d) 1202
The famous Dilwara Temples arc situated in the State of
(a) Uttar Pradesh
(b) Rajasthan
(¢) Mahurashtra
(d) Madhya Pradesh
Wadia Institute of Himalsyan Geology is located at
(a) Delhi
(b) Shimlx
(¢) Dehradun
(d) Kullo
Which city is known as ‘Electronic City of India ¥
(a) Mumbai
(b) Garagon
(¢} Hyderahad
(d) Bangulore
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Who invented the BALLPOINT PEN?

{a) Biro Brothers

(b) Bice Brothers

(¢) Waterman Brothers

(d) Write Brothers
Which was the india's first scheduled airline ?

(n) Air India

(b) Tata Airlines

(¢) Air Birla

(d) Indian Alrlines
Name of the Nokin's mobile phone operating system

(a) Android

(b) Windows

(¢) Symbian

(d) JAVA
Union Cubinet recently approved a notification to estublish & separate development board
for which of the following 7

(=) Hyderabad — Karnataka Region

(b) Chattisgarh — Jharkhand Region

(c) Bihar ~ Jharkhand Region

(d) Greater Andaman Region
Who among the following Is the first woman to be uppointed as the Chief of National Police
Academy of Indis ?

{a) Kiran Bedi

(b) Aruna Bahuguna

(¢) Vimla Mehra

(d) None
Which of the following Is the launch vebicle used in the recent Mangalynan mission by ISRO 7

(#) PSLV 23

(b) PSLV-C24

(¢) PSLV-C25

(d) None
Which of the following teams woa the Champions League T20 in 20137

(#) Kolkatas Koight Riders.

(b) Chennai Super Kings

(¢ ) Mumbai Indisns

(d) None
Which of the following conntrics has been voted the happiest country by “Worid Happinus
Report™ ?

(0) Germany

(h) USA

(c) Norway

(d) Deomark
Where is India’s first science theater located ¥

() Kaporthain, Funjab

(b) Delhi

(c) Chennai, Tamil Nadu

(d) Bangalore, Karnataka
With which country has India signed 9 pacts (in January, 2014) to hoost trade and
investments 7

{a) Sri Lanka

(b) South Korea

(¢) Japan

(d) Bhutan
Who among the following was snnounced us the person of the year by PETA (People for the
Ethical Trestment of Animals) in December, 2013 7

(a) Shashi Tharoor

{(b) John Abrahim

(¢ ) Jairam Ramesh

(d) None
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Which country has the Iargest area of land 7
(a) Russia
(b) Chinn
(c) Indin
(d) USA
How many legs do butterflies have ¥
(u)2
(b)4
()6
(d)8s
With reference to the climste of India, the western disturbances originate over which one of
the following ?
(a) Arabizn Sea
(b) Baltic Sea
(¢) Caspian Seca
(d) Mediterranenn Sea
L which one of the following state is the Nanga Parbat peak located 7
(a) Sikkim
(b) Himachal Pradesh
(¢) Jammu and Kashmir
(d) Uttarakhaod
In Indis, which of the following are the southernmost hills ?
(a) Anaimaisl hills
(b) Cardamom hills
(¢) Nilgiri hills
(d) Javachi hills
Where are the coal reserves of Indis largely concentrated 7
(a) Son valley
(b) Mahanadi valley
(¢ ) Damodar valley
(d) Godavari valley
Which of the following Indian iskand lies between India and Sri Luanka 7
(a) Elephanta
(b) Nicobar
(¢) Rameshwaram
{(d) Saulsette
in which stato do the Muasoon arrives first 7
(a) Assam
(b) Went Bengal
(¢) Mahurashira
(J) Kerain
Which one of the following nress of Indin does not come under the zone of high selsmic
intemsity 7
{a) Uttanrukhand
{b) Karnataka Plateau
(¢) Kachehh
(d) Himachal Pradesh

PART — 11

A unilatera! contract under which the seller is paid = preset amount per umit of service I%
(a) A cost reimbursable contract
(b) A lump sum contract
(¢) A upit price contract
(d) A fixed price contract

From a buyer’s standpoint, which of the following is true 1
(n) Procurement planuing should include consideration of potential subcontracts
(b) Procurevment planning does not include consideration of patential subcontracts
alnce thiv is the duty uf the contracior.
{¢) Subcontractors are first considered during the Solicitation Process
(d) none of the above.
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Which of the following are examples of indirect costs ?
{a) Salaries of corporate executives
(b) Salurics of full-time project staff
{¢) Overhead costs
(d)aand ¢
Which of the following coatract types places the greatest risk on the seller ?
(n) Cost-plus-fixed-fee contract
(b) Cost plus-incentive-foe contraet
(¢) Fixed. pricc-incentive contract
(d) Firm-fixed-price contract
Which is not an element of procurement management 7
(2) Purchasing
(b) Acquinition
(¢) Marketing
(d)bandc
The purchasing cycle consists of all the followlng clements except 7
(n) Defined need
(b) Tranxmit Need
(¢) Inspection
(d) Price und Termus
By which means is a contractor able to control costs overruns due to changing requirtments
(n) Project data review
(b) Change order
(¢) Change control
(d) Contriact negotintions
Payment boads are often required by the contract and require specific actions under the
stated comditions. Payments boods are specifically dssigned to ensure payment of
by the prime contracior.

(2) Wenkly payrolis

(b) Incremental earned value charges

(€) Sabcontractory, laborers, and materialy

(d) Damages for accidents carused
In the communications model, communications between the sender and the receiver ollen
are affected by communieations barriers. These include all of the following except:

(n) Cultural differcaces.

(b) Differences in personalities.

(¢) Educationnl difforences,

(d) Telcconferencing.
The minimum support prices and procurcment prices for agriculture products fixes the
Government on the recommendsations of

{a) Commission for Agricultural Cests and Prices (CACP)

(b) National Development Councll

(¢) Planning Commission

(d) Competition Comaminsion of Tndin
Distribution channe! sims of moving products from producer toc

(a) Ultimate consumer

(b) Retailers

(c) Stockists

(d) Brokers
‘Supply creates tx own demand” s knowmn o ¢

(n) Keyresian law

{b) Say’s law

{¢) Veblen law

(d) Griffins law
In determining sales force yize, when o company Sroups accounts into differcat size clasacs
and then determines the number of sules people nceded to call on them the desired number
of times, it s culled the:

{a) kcy-size approach

(b) worl-load approach

(¢) product-need npproach

(d) coll-service approach
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Which of the following information forms available to the markefing manager can wsunily be
accessed more guickly and cheaply than other information sources 7

(1) Murketing intelligence

(b) Marketing research

(¢) Customer profiles

(d) Internal databases
All of the following are considered to be druwbacks of local marketing EXCEPT:

(n) it can drive gp manufscturing snd markcting costs by reducing cconomies of

scale.

(b) it can create logistical problems when the company tries to meet varied

requircments.

(¢) It enn attract unwanted competition.

{d) it can dilute the brand’s overall image.
A is & good offered either free or ut low cost us an incentive fo buy a product

(a) Patronage reward

(b) spiiT

(e) price puck

(d) promium
The orange juice manufacturers know that orunge juice is must often consumed in the
mornings, However, they would like to change this and make the drink acceptable during
other time periods during the day. Which form of segmentation would they need to work
with and establish strategy reflective of their desires 7

(a) gender segmentation

(b) benclit segmentation

(¢) occnsion sepgmentation

(d) age und life-cycle segmentation
If a company's objective were to reach musscs of buyers that were geographically dispersed
at a low cost per exposure, the company would likely choose which of the following
promotion forms ?

(a) Advertising

() Personal selling

() Public relations

(d) Sales promoetion
is the general term for a buying und selling process that is supported hy
clectronic means.

(a) Internet commerce

{b) Web commerce

(¢) Computer commerce

() Electronic commerce
factors are the muost popular bases for segmenting cusfomer graups,

{(n) Ceographic

{(b) Demographic

(¢) Psychographic

(d) Behuvioral
The stage in the product life cycle that focuses on expanding market and creating prodact
aswareness and trial is the:

{a) decline stuge.

(b) introduction stuge

(c) growth stage
(d) waturity stage
A set of interdependent organizations (nvalved la the process of making a2 product or service
avuilable for use or consumption by the comsumer or business user i called a(n):
(2) retailer
(b) wholesaler
(¢) distribution chaunnel
(d) logistics
Conflicts between different levels of the same channel of distribution are referred to as:
(a) horizontal conflicts
(b) vertical conflicts
() Inyer-basad conflicts
(d) parallel conflicts
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The Amorican Marketing Associntion suggests a list of code of cthies. All of the Tollowing
are othics suggested in the area of distribution EXCEPT:

(a) not munipulating the availability of a product for purpose of exploitation.

(b) not using coervion in the marketing channel

(¢) using gray marketers whenever possible to save the consumer money.

(d) not exerting undue influenco over the reseller’s choice to handle s product.
The holds that consumers will favour products that are available and highly
sffordable (therefore, work an improving production and distribution efficiency).

(n) product concept

{(b) production concept

(¢) production costs expansion concept

(d) murketing concept.

The type of sales force stracture in which the sales force sells along product lines is called a3

() territorial sales foree.

(b) product sales force.

(¢) customer sales force.

(d) retuil sules foree.
When Cocit-Cols and Nestle formed a joint venture to market a ready-to-drink coffee and
tea worldwide, the type of marketing system that was formed would best be deseribed us
being a(n):

(n) vertieal marketing system

(b) paralle! marketing system

(c) diversified marketing system

{d} horizontal marketing system
The iast stage in the selling process Is the stage.

(a) approach

(b) handling objections

(c) closing

(d) follow-up
In 1985, the Coca-Cola Company made a classic marketing blunder with its deletion of it
popular Cocu-Cola product and iatroduction of what it called New Coke. Analysts now
believe that most of the compuany’s problems resulted from poor marketing research. As the
public demanded their “old Coke" back, the company relented and reintrodeced Coen-Cals
Classic (which hus regained and surpassed its former position) while New Cole owns oniy
0.1 percent of the macket. Which of the following murketing research mistakes did Coca-
Cola make ?

(2) They did not investigate pricing vorrectly and priced the product too high.

(b) They did not investigate denler resction and had inadequate distribution,

(¢} They defined their marketing rescarch problem too nurrowly.

(d) They failed to account for the Pepsi Challeoge taste teat in their murketing efforts.
Profits can be frandulently inflated by

(a) Suppression of sales returns

(b) 'I'reating capital expenditure us revenus

(¢) Overestimation of liabilities

(d) Omission of prepaid oxponses
A crodit sale of goods to Shivendrs should be debited to

(a) Soles Account

(b} CGroods Account

(¢) Shivendra Account

(d) Purchasc Account
Which of the following asscts does not depreciate ?

(a) Machinerd and equipmeot

(b) Patents Land

(¢ ) Furniture

(d} Flant and cquipment
Valuing the stock in trude ut markes price or cost price which is lexs is an exampic of the
convention of

(a) consistency

(b) disclosure

(c) knuwing the value

(d) nune of these
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Double entry principle means
(n) Having debit for every credit and similarly eredit for each debit.

(b) Writing all the enfries twice in the book.
(c) Maintaining the double account for all business fransactions.
(d) Writing two times the same entry.
A sule of goods to Vaibhay Deep for cash should be debited 10
(a) Vaibhav's A/C
(b) Cash A/C
(¢) Sale of Goods A/C
(d) None of these.
A withdrawsl of cash from busincss by the propeietor of the firm should be credited to

(n) Capital Account
(b) Cash Account
(¢) Drawing Account
(d) Proprictor’s Account
The preparation of & trial balance helps in
(n) Locating crrors of principle
(b) Locating crrors of omission
(c¢) Locating clerical errors
(d) Locating compensatory errors
A cheque recelved and deposited in the bunk oo the snme day is recorded in the
() Cash column of the canh haok
(b) Bank colaumn of the cash book
(¢) Credited in the eash book
(d) Debited in the cash book
Petty cash may be used to pay
(n) the exponses relating to postages and conveyance
(b) salaries und wages to the final stafl
(c) for the purchase of furniture and fittings
(d) nonc of these
A reserve Is charges ngainst
(#) Trading sccount
(b) Profit and loss account
(c) Profit and loss appropriation account
(d) none of these
The payment side of cash boak Is under cost by Re200 when aver draft as per pass book s
the starting point
(2} Rs. 200 will be deducted
(b) Re.200 will be added
(¢) No effect will be in the pass book
(d) Nane of these
An smount of Rs.300 is debited twice in the pass book when overdraft as por the casi: book is
the starting paint
() Ra.600 will bhe ndded
(b) Rs. 3500 will be deducted
(¢) No effect will be in the Cush book
(d) None of these.
Of the following types of business organization the casiest 1o wingd-up is the
{a) Muitinstionul corporation
(b) Public Limited Company
(¢ ) Private Limited Company
(d) Partnership Firm
*Theory X" and *“Theory Y™ is given by
(n) Maxlow
(b) Vroom
(c) Herzberg

(d) Me Grogior
Selection process in sny organization is usually preceded by the preparation of

(a) human resource sndil

(b) operations audit

(¢) human resources inventory
(d) human respurces accounting
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36,  Hawthorne studies buve underiined the importasce of which ol the following
(3} Contingency Approach to Manugenient
(b} Svientific Approach to Managenient
(¢ ) Modera Approach to Viansgement
(d) Humun Relations Appreach to Management
97, Job evaluation is wsed for
(8) determining wape-rate differentials
() study of job composition
© rating the empluyee meril
(i) determining production cost
98.  The most complicated but widely used methed of job evaluation is

{a) the job renking methed
{(h) the job classitication methe:d
© the murke! pricing methed

{d) the points method
9.  Which one among {he following i an instance of partiviputive management 7
{a) Bourd of Directors
() Trade Unions
€ Task Foree
. (1) Work Commitices
00, Which pne of the following styles of beudership is the most offective for a job order fivm ?
(at) Rarticipative Leadership
(b} Free-rein Leadership
{c} Fransformations! Leadership
(d) Authoritarian [.eadership
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